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a - - 2024 2024 S - = 2024 2024 Sa
- B Y0 LHA) A0 44(B) o HI2 (%) K SHEOMHA) 20| 4(B) o HI2 (%)
5,270,949 5262,329| -8,620 0% 5,270,949 5,262,329 -8,620 0%
4,272,595 4,274,124 1,529 0%,
4,137,049 4,137,049 0 0%
4,217,961 4,219,490 1,529 0%
ROl E x| Y 29 2,661,436 2,662,576 1,140 0%,
4,122,385 4,122,385 0 0%
A|-°‘ 20| ACH 9,
BT H Mg 876,865 877,115 250 0%,
e A2 EE S E S 374,687 374,821 134 0%
Thbg 12,000 12,000 0 0%
EENYUFT 292,358 292,463 105 0%,
DEH|X| 249 1,800 1,800 0 09 JIEtegs 12615 12515 -100 1%
LS _LZ'\_ = I ’ %
22,590 22,590 0 0%,
7|22 gH| 18,400 18,400 0 0%
SR amEs Sl 864 864 0 0%
3| o|H| 4,190 4,190 0 0%,
0,
SES PR 1,900 1,900 0 0 3204 J20n ° o
ofH] 120 120 0 0%
o0/ x4 500 500 o o 84| U 582 24,564 24,564 0 0%
=] Tu %
2583 2,650 2,650 0 0%,
J|EFR 49 M-St 4,710 4,710 0 0%
SR 1,000 1,000 0 0%
76,000 76,000 0 0%
76,000 76,000 0 0%,
43 43 1,132,000 1,123,379 -8,621 -1%
RpebE S| 50,000 50,000 0 0%
HMdzolgz INESESEEIRSONLE] 26,000 26,000 0 0%,
0
So0|2) 295,000 314,806 | 19,806 6% -
S 171,573 171,573 0 0%
MAzolea 171,573 171,573 0 0%
837,000 808,573 | -28427 -4%
(_/'\_A [e]] ()1 :I.) = o o
sTers ZHEX| YA ] 43,023 43,023 0 0%
O S X AL H] 128,550 128,550 0 0%
750,782 740,632 -10,150 1%
750,782 740,632 -10,150 -1%
SN 5,000 5,000 0 0%
Of| | b| (R G u| of B[ H]) 300,000 300,000 0 0%,
Oj|H|H| (==L A F) 445,782 435,632 -10,150 2%
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(erel: gl) kel ® gl
- - _ %?:II-
3 = H= 24 THEO| AHA) AELY 24 HF o £H(B) MEUY =
=% (B-A)
5,270,949 5,270,949, 260 5,262,329 5,262,328,635 8,621
4,272,595 4,272 594,654 4,274,124 4,274 ,123,568 1,529
ol 7| 4,217,961 4,217,961,054 4,219,490 4,219,489,968 1,529
Metolad Zof 138,523,000 0 Metolad Zof 139,663,000
0 EEX|A 204 2,516,912,900 0 EEX|A 20 2,516,912,900
=0d =0 2,661,436 | 0 AlRE =0l Zof 6,000,000 2,662,576 | 0 AFRE =012 Z0f 6,000,000 1,140
2,661,435,900 2,662,575,900
0 MEelzd JiE4g 3,000,000 0 Metolgd Ji=E4Hgt 3,000,000
0 Mgholzd ATty 10,264,800 0 Mgholzd ATty 10,381,200
0 Metolad & oHZ Al 4,320,000 0 Metolad FoHZ Al 4,320,000
0 Mehelzd o 28ty 900,000 0 Metolad of2F 7ty 900,000
0 Mgtelad x| 2dchady| 900,000 0 Metoled w2 chay| 900,000
0 MEholzd A|Zhe|4-Et 10,199,910 0 MEkolzd A|Zhe|4-Et 10,333,540
0 ESX|YAL HARISE 137,328,108 0 ESX|YA HARFSE 137,328,108
Mg = 876,865 | 0 SESX|AA FLSE 109,644,000 877,115 | 0 SR Al FUSE 109,644,000 250
0 X YA EFusE 11,526,340 0 SSX| YA EFuseE 11,526,340
0 ESX| YA FHSY 479,223,840 0 ESX| YA FHSY 479,223,840
0 K| HAL HEFItE 95,758,164 0 K| HAL HEFItE 95,758,164
0 SEX| AL ThabE 12,000,000 0 SESX| AL ThabE 12,000,000
0 EEX|At A2 S| 1,800,000 0 EESX| A HAE|IEY| 1,800,000
876,865,162 877,115,192
Metoled Als|HE R a3 16,864,553 0 Metolad AlsREReta 16,998,737
) HAZLEHFEF 1) AZEYHFEF
2) RRUAZREHZ 2) RRAZREHZ
B B3 3) nEEETHF 3) R8P
oy S| EEFEF 374,687 | 4) Ay ECtz 374,821 | 4) MRS 134
[=N=]
2SR AL Al EEEEF 357,822,010 0 ESX| YA A EEHEEZ 357,822,010
374,686,563 374,820,747
EENEREEEEE 13,158,983 0 Metoled ElxxMzZ 13,263,683
2ESX| AL B AAMEZ 2ESX| AL B AAMEF
=2 Xz 292,358 SHEX| @Al E|E|E 279,199,446 200,463 | ° |9iA} Bl 279,199,446 105
292,358,429 292,463,129
0 MEelzd =X zolE 1,500,000 0 MEtolzd =X zolE 1,400,000
0 X YA WSS 2,505,000 0 X YA WS 2,505,000
J|Et=NE S 0 K| HAL HAUAZLZA R 5,010,000 0 X HAL HAUAZLZA R 5,010,000
=P~ 12,615 = o 12,515 = o 100
B v 0 E=X|2AL Ctopy] 3,600,000 0 E=X|2AL Ctopy] 3,600,000
12,615,000 12,515,000
ARER 22,590 22,590,000 22,590 22,590,000 -
Metolgd ¢EMEY| 400,000 0 Mgtelzd AN ZY| 400,000
0 2Yele WEMEY| 300,000 0 2d9lel HAMEY| 300,000
AHMEH| 17,400 SEX| A WEMEH| 16,700,000 17,400 | 0 ESX| AL WEMEZ2H| 16,700,000 -
e
17,400,000 17,400,000
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[= | ~
0 4 Z=AH| 1,000,000 0 & Z=AH| 1,000,000
PESUN L] 1,000 1,000 -
1,000,000 1,000,000
0 2geld=zoly| 2,910,000 0 2geld=zoly| 2,910,000
1) 3le|g 2,100,000 1) 3le|g 2,100,000
2) slelAlth 810,000 2) slelAlth 810,000
3lo|H| 3| o|H| 4,190 | 0 7|EtE[2|H| 280,000 4,190 | 0 7|Ets|ely| 280,000 -
0 M=z37|& MEX 5| 1,000,000 0 M=z37|& MEX god| 1,000,000
4,190,000 4,190,000
29| 32,044 32,043,600 32,044 32,043,600 -
04H| 04H| 120 | 0 04H| 120,000 120 [ 0 ofH] 120,000 -
0 SSX|HAL E|ZAFGTTRE 6,000,000 0 EEX| AL E|RlZ L4 6,000,000
0 IZAAMH|A0|ER 600,000 0 AZAAMH|A0|ER 600,000
0 AFREE Ted| 6,000,000 0 AFREE T 6,000,000
o al |lao al A 0 &~2F Fly| 6,000,000 0 &EE 7| 6,000,000
+3H| ¥ |84 & = 24 = ol = 2 = ol =
PO = ,564 | 0 SAP| 2 924,000 4,564 [ 0 SAY| LB 924,000 -
0 7|Et2YHy| 2,400,000 0 7|Ef2YH]| 2,400,000
0 = RX2E 2,640,000 0 = RAE2ER 2,640,000
24,564,000 24,564,000
0 ST ZF(UT-77) 2,649,600 0 SHI|E 2 (UT-77) 2,649,600
332= 332= 2,650 2,650 -
2,649,600 2,649,600
0 i AtEE7tely| 3,000,000 0 HjAFE S TFRIH| 3,000,000
0 X HAL Ml 2 1,670,000 0 K| HA Ml 2 1,670,000
MAMl=sz= HA=zZ 4,710 | 0 MEold AsliEE 40,000 4,710 | 0 Mol AsiEE 40,000 -
4,710,000 4,710,000
NS 76,000 76,000,000 76,000 76,000,000 -
Al MH| 76,000 76,000,000 76,000 76,000,000 -
0 Rtk SH| 50,000,000 0 Rtk SH| 50,000,000
NS E= IS AHobE| S| 50,000 50,000 -
50,000,000 50,000,000
0 Y3 AtH| 6,000,000 0 Y3 AtH| 6,000,000
Al e 7 oo ~ 2SAAAFAS =N SR AAFA S =M
| x|u||Tr HESX| 54| 26,000 0 | P2l e [ 20,000,000 26,000 0 | b = [ 20,000,000 _
26,000,000 26,000,000
Atdd] 171,573 171,573,000 171,573 171,573,000 -
Atdd] 171,573 171,573,000 171,573 171,573,000 -
0 SAlH| 2,160,000 0 S4lH| 2,160,000
1. AOE ZZAM K| 4] 2,160,000 1. AOE ZZM K| 4] 2,160,000
0 &SX|2Al 29| 1,803,000 0 &SX|2Al 29| 1,803,000
1. 2SX| A2 SH| 1,503,000 1. 2SX| A2 SH| 1,503,000
2. SX| YA At = FH| 300,000 2. XA At = FH| 300,000
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0 HESA[YAL S B 14,000,000 0 HESA[AL S B 14,000,000
1. AAb| 9,000,000 1. AlAb| 9,000,000
2. PLEEX|AALE A 1,500,000 2. PLEEX|AALE A 1,500,000
3. ZESA| 500,000 3. ZESA| 500,000
4. 7|'AER = 2,700,000 4. 7|'AER =) 2,700,000
5. 28 ZAty| 300,000 5. 28 ZAty| 300,000
0 ol A+ Ha|2%H| 1,200,000 0 O|2A} Hz|2YGH| 1,200,000
1. O| A7ty wed| 1,200,000 1. O| A7ty wed| 1,200,000
=N 2SXg
oq o 43 ? 023 = = e M 43 1 023 = = e T -
Atdd] Abdd] 0 O| A ZIEts| Z BX==T HiX|] 12,560,000 0 O| 88X} Zt3 & BEMpg WX 12,560,000
1. a2 7,560,000 1. a2 7,560,000
2. B24| 3,000,000 2. B2H| 3,000,000
3. MEAZH =] 2,000,000 3. MEXZH =] 2,000,000
0 Metoly mSH| 2,400,000 0 MEely msH| 2,400,000
0 EHH| 5,000,000 0 ZHu| 5,000,000
1. EHEEN = 5,000,000 1. EHEEN = 5,000,000
0 A&mSH| 900,000 0 A&mSH| 900,000
1. Al ES 36,000 1. Al EE 36,000
2. MEsd 864,000 2. MEsd 864,000
0 7|El2%H| 3,000,000 0 7|El2HH| 3,000,000
43,023,000 43,023,000
0 27| bEAtedH| 17,300,000 0 27|Lhs At | 17,300,000
27| s Al | 17,300 17,300 -
17,300,000 17,300,000
TS 2 L4 0 AlZtZtof ol ZIZHHE At | 9,250,000 0 AlZtZtof ol ZIZHHE At | 9,250,000
INEET 9,250 9,250 B
9,250,000 9,250,000
0 23t0{7x| & ALH| 30,000,000 0 23t0{7x| & ALH| 30,000,000
= 5104 7}x| YA 1. Z30{7tX| YA (Z2S X HALY 20,000,000 1. Z30{7tX| YA (ZS X HALY 20,000,000
ool = x| = ob| = 30,000 (2. 250{7bX| AR H|(ElI015) 10,000,000 30,000 (2. 250{7bX| AR H|(ElI015) 10,000,000 -
ALdH|
30,000,000 30,000,000
0 MEMIAIAY| 62,000,000 0 MEMIAIAH| 62,000,000
1. CHRIRF2H| =EAFH| 50,000,000 1. CHRIRF2H =EAFIH| 50,000,000
2N S ALH| 62,000 [2. Ztofj oI5 AXtZ K| &tolZ4H| 12,000,000 62,000 [2. Ztofjols AXIZ K| RtoIZ4H| 12,000,000 -
62,000,000 62,000,000
== xo)olelm 0 AFAH| 10,000,000 0 AFAH| 10,000,000
Atedu] 10,000 10,000 -
- 10,000,000 10,000,000




g 5 M= 24 SHZ0IAH(A) MEU 24 HYol £K(B) MEY °"(E' )
o4 (B-
750,782 750,781,606 740,632 740,632,067 10,150
mHEx 0 REYX|ZZo gtatg 5,000,000 0 REYX|ZZo gtatg 5,000,000
gheka i 5,000 5,000 -
-=- 5,000,000 5,000,000
0 od|a|(Xt7|d 0| &F) 745,781,606 0 od|a|(Xt7|d 0| & F) 735,632,067
ofld|d| ol H|H| 1. oflajH[(2d|ofs]|H]) 300,000,000 1. ofld|d|(2d|ofd|H]) 300,000,000
(A7|d ol | (RI7| A zol 745,782 (2. ofH|H| (=Y F) 445,781,606 735,632 (2. ofH|b| (240 F) 435,632,067 10,150
#3) )
745,781,606 735,632,067




